Part A: Exact values of trigonometric ratios for 45°

Consider the isosceles triangle:

-

a

a) If the length of both equal sides is a, use Pythagoras theorem to find the length of the
hypotenuse x

Z,l: a2+a_2 = Z.&l

b) Show that 6§ = 45°.

0490 = 180 o 26=90 .. 0=¢5"

c¢) Show that sin 45 = % (which, once rationalised, is equal to g)

NN L=
e

d) Show that cos 45 = % (which, once rationalised, is equal to g)

whb = a = & = Lz
e

e) Show that tan45 =1

—
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Part B: Exact values of trigonometric ratios for 30° and 60°

Consider the equilateral triangle:

-

)

a) Show that 6 = 30°
0 Vs

40+B+60 =120 . 6=230 o

b) If the length of each side is a, use Pythagoras theorem to find the length of the height A

hl+(&)z=&l K R"'-La&_ql o Re_ad-a*
: : .

azs%gg {(z % a 7

) Using SOHCAHTOA, show that sin 30 = E and that cos 30 = —

y 3q
0= = i :“i %30:,V_\_=§__
O~

/3

2

o o

®)

d) Likewise, show that sin60 = £and that cos 60 = =

w0 R - B Cﬂa60:a/z:_l_
o 2 = 2

(
e) Using results from c) and d) above, find the exact values of tan 30 and of tan 60
fw 30 = w30 S N
w3sp % 1B 3

fa 60 = 20 _ 13, _ (3
@ 60 /5
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